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Introduction

This Payment Mechanism (Pay Mech) calculation document works in alignment with the Annex A -
KPI Model. Data extracted from the Annex A - KPI Model will adjust the monthly payment to the
Supplier based on how many of the agreed KPl Measures have been met. In this way, the two
documents complement one another. The Annex B - Pay Mech document also works independently
from the Annex A - KPI Model in as much as it calculates the monthly fee due to the Supplier at the
end of each agreed Monthly period. This guidance explains how each section of the Pay Mech
Calculation document works.

PayMech Calc Overview worksheet

All cells that are colour coded in pink are the only cells that are required to be completed. Payments
to the supplier are in arrears e.g. for costs incurred in January, the Pay Mech document is completed
in February to calculate payments due for the previous period. Various pink cells within the Pay
Mech document, when completed, inform the rest of the document so it is important that all of the
relevant cells are completed as follows;

e Inrow 8, “Payment for Month number” requires Cell C8 to identify which period (Month of
the contract) is to be the subject of calculation. The first period of the contract refers to the
15t Month. Therefore, the number “1” is populated into this pink cell. For the next period,
the number “2” is used and so on. Note, the Month number will range from 1 to 60 for a 5-
year Contract length.

A B c

Payment Mechanism Calculation

Instruction to User: All cells requiring user input are coloured in 'pink’: —

Setm b W R

§ Payment for month number 2

10 Therefore in Payment Mechanism, Contract Month 'n'=2
11

SECTION 1: Calculation of Baseline Monthly Payment
e Inrow 14, “Contract Fixed Fee for the Relevant Contract Year” requires cell C14 to be
completed with the annual base value of the contract Fixed fee.

SECTION 1: Calculation of Fixed Fee Monthly Payment
Contract Fixed Fee for relevant Contract Year

Baseline Monthly Payment =| £0.00

SECTION 2: Calculation of Monthly Value at Risk
e Cell C25 of this section is automatically calculated, drawing from Cell C17 which has already
calculated the “Baseline Monthly Payment”, and in consideration of Cell C23 which provides
the percentage “Monthly Value at Risk” set by the Buyer, which is fixed at 6%. The
percentage value at risk is calculated against the “Baseline Monthly Payment” and
represents the maximum £sterling amount that may be deducted in the event that KPIs are
not met.



A B (o]
gO SECTION 2: Calculation of Monthly Value at Risk

gg Formula for "Monthly Value at Risk" =  Baseline Monthly Payment x Value at Risk %
24 Value at Risk % = 6.00%
26 Monthly Total Value at Risk =| £5,030.00

27

Hints & Tips — note that the “Monthly Total Value at Risk” is pulled through to the “Performance
Deduction Calc” sheet and will be referenced by appropriate formulae to ensure that any collective
deductions made as a result of KPls not being met will not exceed this “Total Monthly Value at Risk”.

Input of Billable Works for Previous Contract Month
e This section requires the input of “Input for Billable Works for Previous Contract Month”. As
this guidance is concerned with using month “2”, this area would be looking to ascertain if
there was a billable Works Cost for the previous Month “1”. Add the costs as may be
appropriate.

Input of Billable Works for Previous Contract Month
Monthty Task Order Cost for Month 1 =

Hints & Tips — note that Billable Works Costs will not be included in the calculation that provides the
“Monthly Total Value at Risk”.

SECTION 3: Calculation of TUPE Risk Premium for Previous Month
e This section requires the input of the “Calculation of TUPE Risk Premium for Previous
Month”. As this guidance is concerned with using month “2”, this area would be looking to
ascertain if there was any TUPE Risk Premium costs for the previous Month “1”. Add these
costs as may be appropriate.

A B C
36 SECTION 3: Calculation of TUPE Risk Premium for Previous Month
ar
38 Monthly TUPE Risk Premium for Month 1 = £600
39

Hints & Tips — note that the cost of TUPE Risk Premium will not be included in the calculation that
provides the “Monthly Total Value at Risk”.

SECTION 4: Calculation of Performance Adjustment for Previous Month
e This section automatically draws the Performance Adjustment for the previous month into
the calculation and deducts any amount (below or equal to the 6% cap) from the Monthly
Fee due. This figure will also consider the Earnback % as described later on in this guidance.

A B C
40 |SECTION 4: Calculation of Performance Adjustment for Previous Month

43 |Monthly Performance Adjustment for Month 1 = £1,400

44

Hints & Tips — the calculation for the Performance Adjustment is drawn from the “Performance
Deduction Calc” tab and the “Perf Earnback_Retention Calc” tab, which in turn is fed by data
extracted from the completed KPI Model. Details on how the calculations within both the
“Performance Deduction Calc” and “Perf Earnback Retention Calc” tab are performed are given
later on in this guidance.

SECTION 5: Calculation of the Monthly Payment (MPn)
e This section collates all of the information provided in Sections 1 to 4 and provides a final
calculation for the Monthly Fee due to the Supplier.



45 SECTION 5: Calculation of the Monthly Payment

47 Monthly Payment for Month
48
49 Monthly Payment for Final Contract Month
50

£81,433.33

£77,233.33

Monthly Payment Record — Over Contract Period
e This table collates the information provided in Sections 1 through to 5 on a monthly basis.
For each period, once Sections 1 to 5 have been completed, cells B52 to B58 should be
copied and pasted into the appropriate Monthly/Period columns to the right of these
prepopulated cells. This table records a breakdown of the Monthly Payment across all
periods of the contract agreement.

Performance Deduction Calc worksheet

The “Performance Deduction Calc” tab includes a number of tables which effectively receive
information collated from the completed KPI Model containing all of the measures which the Buyer
has stipulated must be met in order for a full Monthly Payment to be made to the Supplier. “Table 3,
Measure Deduction (column E) from the “Performance Criteria” tab of the KPI Model is copied and
pasted into the “Table 1” in the “Performance Deduction Calc” tab.

The purpose of each table within the “Performance Deduction Calc” tab is described and explained
as follows;

Table 1 — Ratchet Options.

The Ratchet Options table illustrates the “loading” of consistently failed KPIs by the Supplier. Simply
put, for the second consecutive failure of a KPI, the deduction is “ratchetted” up by a factor of 1.5,
for the third failure by 1.75 and the fourth by 2.0. Where there are 3 failures of a KPI over a rolling
12-month period, this KPI will thereafter suffer a deduction of 1.50 applied whether this is met or
not in the current Month. Where there are 4 or 5 failures of a KPI over a rolling 12-month period,
this KPI will thereafter suffer a deduction of 1.75 applied whether this is met or not in the current
Month. Where there are 6,7,8,9,10,11 or 12 failures of a measure over a rolling 12-month period,
this measure will thereafter suffer a deduction of 2, applied whether this is met or not in the current
Month. Any deductions will be capped at 6% of the Total Monthly Fee at Risk.

A B C D E F
Ratchet Failure over a 12
Table 1: RATCHET OPTIONS Consecutive Failure Month Rolling
Value .

2 Period

3 Default 1

4 Ratchet 1 1.5 2 3

5 Ratchet 2 1.75 3 45

6 |Ratchet 3 2 4 6,7,8,9,10,11,12

Table 1 — Actual Deductions.

This table will receive the figures collated within the Buyer’s KPI Model, “Performance Criteria” tab
from the “KPI Deduction” column of “Table 3. KPIs”. “Table 3 KPIs” collates all of the results across
the monthly period and calculates the costs that will be deducted from the Monthly Payment of the
same period. “Table 3 KPIs” is simply copied and pasted into the appropriate column labelled for
each period of the contract.



A B C D E F G H | J K L M

9 Contract Year 1
Table 1: ACTUAL DEDUCTIONS
Copy and paste values from the KPI Model:
"Performance Criteria’ tab 1 2 3 4 5 6 7 8 9 10 1" 12
Table 2: KPls

10 'KPI Deduction’ column.

11 SEC M1 £200.00 | £100.00

12 |SEC M2 £100.00 £0.00

13 SEC M3 £50.00 £100.00

14 |SEC M4 £200.00 £0.00

15 |SEC M5 £300.00 | £200.00

16 SEC M6 £100.00 | £100.00

17 |SEC M7 £100.00 | £100.00

18 SEC M8 £400.00 | £300.00

Hints & Tips — Make sure that when the figures are copied from “Table 3 KPIs” of the completed KPI
Model, ”Paste Special” is selected along with “Values and Formats Only” before they are copied into
Table 1. This action will remove any formulae lifted from the KPI Model and ensure that no errors
occur during the copy and paste process.

Table 2 — Record of KPI Pass/Fail per Service

Table 2 records whether a KPI has passed or failed. Each cell in Table 2 looks to the appropriate cell
in Table 1. If a number greater than zero appears in the relevant cell within Table 1, then a “Fail”
marking is returned. If a zero appears in the relevant cell within Table 1, then a “Pass” marking is
returned. The process continues from each period throughout the life of the contract.

A B c D E F G H | J K L M
20 . ) Contract Year 1
2 Table 2: Record of KPI Pass/Fail per Service 1 2 3 n 5 5 7 8 9 10 1 12
22 |SEC M1 Fail Fail Pass Pass Pass Pass Pass Pass Pass Pass Pass Pass
23 SEC M2 Fail Pass Pass Pass Pass Pass Pass Pass Pass Pass Pass Pass
24 |SEC M3 Fail Fail Pass Pass Pass Pass Pass Pass Pass Pass Pass Pass
25 |SEC M4 Fail Pass Pass Pass Pass Pass Pass Pass Pass Pass Pass Pass
26 SEC M5 Fail Fail Pass Pass Pass Pass Pass Pass Pass Pass Pass Pass
27 | SEC M6 Fail Fail Pass Pass Pass Pass Pass Pass Pass Pass Pass Pass
28 |SEC M7 Fail Fail Pass Pass Pass Pass Pass Pass Pass Pass Pass Pass
29 SEC M8 Fail Fail Pass Pass Pass Pass Pass Pass Pass Pass Pass Pass

Table 3 — Calculation of Failure over a 12 Month Period.
Table 3 looks at returning the actual figure to be deducted for each Monthly Period against each
Service.

A B c D E F G H | J K L M
32 Table 3: Calculation of Failure Over a 12 Contract Year 1
33 Month Period 1 2 3 4 5 6 7 9 10 11 12
34 SEC M1 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0
35 |SEC M2 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0
36 |SEC M3 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0
37 |SEC W4 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0
38 |[SEC M5 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0
39 |SEC M6 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0
40 SEC M7 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0
41 SEC Mg £0 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0

Table 4 — Calculation of Consecutive Failure.

Table 4 looks to understand the number of times a Service has failed either consecutively or over the
course of a rolling 12-month period, applying the appropriate “ratchetted” deductible figure. This
“loaded” amount is then added to the “standard” deduction to take account of the ratchet
mechanism.

A B C D E F G H | J K L M
j‘é Table 4: Calculation of Consecutive Failure 1 7 3 1 5 C;mrad YET ! 3 3 10 m 2
46 |SEC M1 £200 £150 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0
47 |SEC M2 £100 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0
44 |SEC M3 £50 £150 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0
49 |SEC M4 £200 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0
50 |SEC M5 £300 £300 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0
51 |SEC M6 £100 £150 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0
52 |SEC M7 £100 £150 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0
53 |SEC MB £400 £450 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0




Table 5 — Calculation of Deduction (uses highest figure from table 3 or table 4 above).
Table 5 then looks to the appropriate corresponding cells for each Service in both Tables 3 and 4.
Whatever is the greater number is populated into the corresponding cell for that service into Table
5.

A B C D E F G H | J K L M
56 |Table 5: Calculation of Deduction (uses highest Contract Year 1
57 figure from table 3 or table 4 above) 1 2 3 4 5 b 7 8 9 10 11 12
58 |SEC M1 £200 £150 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0)
59 |SEC M2 £100 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0)
60 |SEC M3 £50 £150 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0)
61 |SEC M4 £200 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0
62 |SEC M5 £300 £300 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0
63 |SEC M6 £100 £150 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0
64 |SEC M7 £100 £150 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0
65 |SEC M8 £400 £450 £0 £0 £0 £0 £0 £0 £0 £0 £0 £0

Table 6 — Monthly Total Value at Risk Cap

Table 6 draws the calculated Total Sum at Risk (capped at 6%) from the appropriate cell within the
“Paymech Calc Overview” tab. The “Monthly Total Value at Risk” figure has been worked out by the
information/data input to the “Paymech Calc Overview” tab. The “Total Deductions” line under
Table 6 then looks to see if the total deductions recorded in Table 5 exceed the “Monthly Total Value
at Risk. If it does, then the “Monthly Total Value at Risk” is carried into the “Paymech Calc Cluster
Overview” tab and deducted from the “Monthly Payment” figure. If it does not exceed the “Total
Monthly Value at Risk”, this lower figure is carried across instead, with the associated deduction
then being made from the “Monthly Payment” figure.

A B C D E F G H | J K L M

68 . . Contract Year 1
69 Table 6: Monthly Total Value at Risk Cap 1 3 3 r 5 5 7 3 3 m m T

£5030| £5030| £5030| £5030 £5030| £5030| £5030| £5030| £5030| £5030 £5030| £6030f

This is capped at 6% of the total of the Manthly
70 |Fixed Fee for the Month in question
7
[ TOTAL DEDUCTIONS £1,450  £1,350

Perf Earnback Retention Calc worksheet
Under certain conditions described in more detail within Schedule 14 - KPIs, the Supplier will be able
to “Earnback” a percentage of the previous month’s deduction for each KPI, as indicated below.

A B C D E F G H J K L M
2 |[EARNBACKIRETENTION
3
4 Table 1- Monthly Earnback Calculation [Maorthly Earnback 3. [ 3002 |
] Contract honth
6 2 Contract Annual Period 1- Month

Contract Year 1- Contract Month Split

7 ACTUAL DEDUCTIONS ! 2 3 4 5 5 7 8 g 10 n 12
& |SEC M1 i 1] £0 0 1] i 1] £0 0 1] 0 1]
9 |SEC M2 i0 £a0 0 ] ] i0 i 0 ] ] in i
10 |SEC M3 0 ] £0 0 1] 0 ] £0 0 1] 0 ]
11 [SELC t44 i0 R0 0 ] ] i0 i 0 ] ] in i
12 |SEC B 0 ] £0 0 1] 0 ] £0 0 1] 0 ]
13 |SEC ME £0 ] £0 ] ] £0 1] £0 ] ] £0 1]
14 |SEC M7 in ] 0 i0 Hi] in ] 0 i0 Hi] in ]
15 |SEC M8 0 i} £0 0 i} 0 i £0 0 i} 0 i

“Earnback” works as follows:

The above table will automatically be populated with the appropriate deductions for each Monthly
period when Table 1 is populated each month within the “Performance Deduction Calc” tab.
Similarly, cell A6 will be automatically populated when cell C8 within the “Pay Mech Calc Overview”
tab is completed. This will inform this table which monthly period is relevant for the “Earnback”
calculation. For this example, monthly period “2” is used.

The “Earnback” amount is set at 30%, and is applied as follows:




Monthly period “1” in Table 1 within the “Performance Deduction Calc” tab column “B” displays the
financial extent to which each KPI failed in this period. Against these figures in the same table,
monthly period “2” in column “C” also displays the financial level to which each KPI failed in this
period. Using measure SEC M2 as an example, for monthly period “2”, this measure incurred no
financial deduction. On this basis, a 30% rebate is made based on the financial deduction applied
against measure SEC M2 in monthly period “1”. As illustrated in the table above, SEC M2 receives a
rebate of £30.00. This sum equals 30% of the appropriate £100 deduction for this measure in
monthly period “1”. All rebates via Earnback are calculated in this way for each individual measure.

In this way, a total rebate for monthly period 2 is calculated at £90.00. This figure is displayed in cell
BJ16.

BG BH Bl BJ

6
Earnback Amount Due from

7 58 59 60 Previous Contract Month [#)
8 £0 £0 £0 0
9 ] ] ] £30.00
10 £0 £0 £0 0
ikl £0 £0 £0 £60.00
12 £0 £0 £0 0
13 £0 £0 £0 0
14 £0 £0 £0 0
15 £0 £0 £0 0
16 £90.00

The sum of £90 is subsequently taken off the calculated “Monthly Performance Adjustment” amount
calculated and displayed within the “Pay Mech Calc Overview” tab in “Section 4: Calculation of
Performance Adjustment for Previous Month”.



